PHYSICS

BOOKS - CHETANA PUBLICATION

Current Electricity

1. What do you mean by current electricity?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GXi7nZMDCMg1

2. Name the three types of electrical

conductors?

o Watch Video Solution

3. Does a semiconductor diode and resistor

have similar electrical properties?

o Watch Video Solution



https://dl.doubtnut.com/l/_kJM2ChptDeav
https://dl.doubtnut.com/l/_w6ZJVZlCrEPn

4. What is the effective resistance when two or

more resistors are connected in series?

° Watch Video Solution

5. What is the effective resistance when two or

more resistors are connected in parallel?

o Watch Video Solution



https://dl.doubtnut.com/l/_4xiQv0zmYrTr
https://dl.doubtnut.com/l/_EF610pIZNzEV

6. Name the laws wused for analyzing

complicated circuits?

° Watch Video Solution

7. Give the basic difference between the
electrical properties of a semiconductor diode

and resistor?

° Watch Video Solution



https://dl.doubtnut.com/l/_gSBzzICaRmHr
https://dl.doubtnut.com/l/_4oRSDgigbLM6

8. Define junction.

o Watch Video Solution

9. Define loop or mesh.

o Watch Video Solution

10. Define branch.

o Watch Video Solution



https://dl.doubtnut.com/l/_OQPCqDVO778R
https://dl.doubtnut.com/l/_z3SapqTsaRgZ
https://dl.doubtnut.com/l/_DrkYJwizLaE3

11. State the uses of Kirchhoff's Laws.

o Watch Video Solution

12. Are Kirchhoff's Laws applicable for both AC

and DC currents.

° Watch Video Solution

13. State Kirchhoff's Laws.

° Watch Video Solution



https://dl.doubtnut.com/l/_BjAlAu4WblRR
https://dl.doubtnut.com/l/_2RHmBB1oED4O
https://dl.doubtnut.com/l/_GkIXOdTlZ6Ak

14. Explain : Kirchhoff's first laws is in

accordance with law of conservation of charge.

o Watch Video Solution

15. Explain: Kirchhoff's second law is in

accordance with law of conservation of energy.

° Watch Video Solution



https://dl.doubtnut.com/l/_GkIXOdTlZ6Ak
https://dl.doubtnut.com/l/_RqwRygUI0baE
https://dl.doubtnut.com/l/_G6bkwhWoYqH0

16. State and explain the sign conventions for

Kirchhoff's first law.

o Watch Video Solution

17. State and explain the sign conventions for

Kirchhoff's first law.

o Watch Video Solution



https://dl.doubtnut.com/l/_6LfsMB3X6RdE
https://dl.doubtnut.com/l/_oZkPfMAauiuE

18. Write down Steps followed while solving a

problem using Kirchhoff's laws:

o Watch Video Solution

19. Figure shows currents in a part of electrical

circuit. Find the current I?

o Watch Video Solution



https://dl.doubtnut.com/l/_QLiKLE1L2RoU
https://dl.doubtnut.com/l/_ntd76w2jUqp0

20. Two batteries of 7 volt and 13 volt and
internal resistances 1 ohm and 2 ohm
respectively are connected in parallel with a
resistance of 12 ohm. Find the current through
each branch of the circuit and the potential

difference across 12-ohm resistance.

o Watch Video Solution

21. A battery of emf 4 volt and internal

resistance 1(Qis connected in parallel with


https://dl.doubtnut.com/l/_pIgs1X0jXzZe
https://dl.doubtnut.com/l/_ZjBVkMd2YIQX

another battery of emf 1 V and internal
resistance 1€} (with their like poles connected
together). The combination is used to send
current through an external resistance of 2().
Calculate the current through the external

resistance.

o Watch Video Solution

22. Two cells of emf 1.5 Volt and 2 Volt having
respective internal resistances of 1} and 212

are connected in parallel so asto send current


https://dl.doubtnut.com/l/_ZjBVkMd2YIQX
https://dl.doubtnut.com/l/_yy1fJ2Vywx86

in same direction through an external
resistance of 5. Find the current through the

external resistance.

o Watch Video Solution

23. A voltmeter has a resistance 30€2. What will
be its reading, when it is connected across a

cell of emf 2 V having internal resistance 10€2?

o Watch Video Solution



https://dl.doubtnut.com/l/_yy1fJ2Vywx86
https://dl.doubtnut.com/l/_92xKRk60bzON

24. A set of three coils having resistances 10¢2,
122 and 152 are connected in parallel. This
combination is connected in series with series
combination of three coils of the same
resistances. Calculate the total resistance and
current through the circuit, if a battery of emf

4.1 Volt is used for drawing current.

o Watch Video Solution



https://dl.doubtnut.com/l/_oRk4l5qZrK6A

25. A voltmeter has a resistance of 100€2. What
will be its reading when it is connected across

a cell of emf 2 V and internal resistance 20(2?

o Watch Video Solution

26. Name the factors affecting the resistance

of a material.

° Watch Video Solution



https://dl.doubtnut.com/l/_g30v8Nuo9Wvm
https://dl.doubtnut.com/l/_jPG4koO5xNFI

27. Which are conjugate arms in the

Wheatstone's bridge? Why?

o Watch Video Solution

28. State the applications of Wheatstone

Bridge? Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_r5MHEGXtx6Ub
https://dl.doubtnut.com/l/_SaAjoN4ECwgB

29. Obtain balancing condition in case of
Wheatstone Network. (By using Kirchhoffs law
Obtain balancing condition in case of

Wheatstone Network)

° Watch Video Solution

30. Obtain balancing condition in case of

Wheatstone's network. (By using Ohm'’s law.)

o Watch Video Solution



https://dl.doubtnut.com/l/_dXRnVaevAzbN
https://dl.doubtnut.com/l/_5KN1691LxPTm
https://dl.doubtnut.com/l/_KQmYs35FlPU4

31. At what value should the variable resistor
be set such that the bridge is balanced? If the
source voltage is 30 V find the value of the
output voltage across XY, when the bridge is

balanced.

o Watch Video Solution

32. Why meter bridge is also called

Wheatstone’s metre bridge.

° Watch Video Solution



https://dl.doubtnut.com/l/_KQmYs35FlPU4
https://dl.doubtnut.com/l/_CSnmOAyHvBX6

33. Does the value of resistance of a conductor
depend upon the potential difference applied

across it or current passed through it?

o Watch Video Solution

34. Describe the construction of meter bridge

to determine an unknown resistance.

° Watch Video Solution



https://dl.doubtnut.com/l/_LUsS00rUVTRe
https://dl.doubtnut.com/l/_33klDCkPReQ0

35. Explain with neat circuit diagram, how you
wil determine the unknown resistance using a

meter bridge.

o Watch Video Solution

36. Four resistance 10€2, 102,102 and 20f2 are
connected so as to form Wheatstone's bridge.
The resistance connected across 201

resistance to balance the bridge is

o Watch Video Solution



https://dl.doubtnut.com/l/_ArmV39G0oD5i
https://dl.doubtnut.com/l/_81wkGtTc7SFo

37. Describe the construction Kelvin's method
to determine the resistance of Galvanometer

by using meter bridge.

o Watch Video Solution

38. Define potentiometer.

o Watch Video Solution



https://dl.doubtnut.com/l/_81wkGtTc7SFo
https://dl.doubtnut.com/l/_Z5CljVueKQkj
https://dl.doubtnut.com/l/_2BKuky3sFWkw

39. What is a potentiometer?

o Watch Video Solution

40. Do you know an instrument which can

measure terminal P.D. as well as em.f.?

° Watch Video Solution

41. Name the device used for the

measurement of internal resistance of a cell.



https://dl.doubtnut.com/l/_n4Xudv0MCkYW
https://dl.doubtnut.com/l/_6Qkqf4vxVJLd
https://dl.doubtnut.com/l/_zGyk178NPS9d

o Watch Video Solution

42. Why there is no way to separate the

internal resistance from the e.m.f. of a cell?

o Watch Video Solution

43. On what factors does the internal

resistance of a cell depend?

o Watch Video Solution



https://dl.doubtnut.com/l/_zGyk178NPS9d
https://dl.doubtnut.com/l/_ECj70wqnUEjq
https://dl.doubtnut.com/l/_e0waUf9ADN6u
https://dl.doubtnut.com/l/_tWru4jtxRpwV

44, |Is internal resistance a defect of a cell?

Explain.

o Watch Video Solution

45, State the advantages of potentiometer

over voltmeter.

o Watch Video Solution



https://dl.doubtnut.com/l/_tWru4jtxRpwV
https://dl.doubtnut.com/l/_cIwcooaetJ5R

46. State the disadvantages of potentiometer

over voltmeter.

° Watch Video Solution

47. Why is potentiometer preferred over a
voltmeter for measuring emf? or explain.

Potentiometer acts as an ideal voltmeter .

° Watch Video Solution



https://dl.doubtnut.com/l/_5lB6iOzFy27Z
https://dl.doubtnut.com/l/_Dn7LDWML09hz

48. State and explain  principle of

potentiometer.

o Watch Video Solution

49, Describe the construction of

potentiometer.

o Watch Video Solution



https://dl.doubtnut.com/l/_k3s0A0hnaHYJ
https://dl.doubtnut.com/l/_1gWhHSSz2W5c

50. Define potential gradient. State its unit

and dimension.

o Watch Video Solution

51. Obtain the dimension of potential gradient.

o Watch Video Solution

52. On what factors does a potential gradient

of a wire depend.



https://dl.doubtnut.com/l/_vg7e4Y9cFoAn
https://dl.doubtnut.com/l/_VzwCkNqrZLf9
https://dl.doubtnut.com/l/_xQMMGPTNZ1kz

o Watch Video Solution

53. What is potential gradient? How it is

measured? Explain.

o Watch Video Solution

54. Why jockey should not be slided along the

potentiometer wire?

o Watch Video Solution



https://dl.doubtnut.com/l/_xQMMGPTNZ1kz
https://dl.doubtnut.com/l/_hpC7nAPeUDOy
https://dl.doubtnut.com/l/_MBQsyCa19j75
https://dl.doubtnut.com/l/_B3PSOPl6GN33

55. State the uses of a potentiometer.

o Watch Video Solution

56. State what precautions must be taken
while performing experiment with

potentiometer.

o Watch Video Solution



https://dl.doubtnut.com/l/_B3PSOPl6GN33
https://dl.doubtnut.com/l/_tnJisCSYkxNG

57. Describe the use of potentiometer to
compare the em.f. of two cells by the direct

method (individual method).

o Watch Video Solution



https://dl.doubtnut.com/l/_IWV6uKIZRFYY

58. Describe how a potentiometer is used to
compare the em.f.s of two cells by connecting

them separately.

o Watch Video Solution



https://dl.doubtnut.com/l/_QNZEISO5XPRj

59. Describe how potentiometer is used to
compare the emfs of two «cells by

combination method.

o Watch Video Solution



https://dl.doubtnut.com/l/_6rBSoaUcximD

60. Describe with the help of neat diagram
how will you determine the internal resistance
of a cell by using potentiometer. Derive the

necessary formula.

My
——l——

g
1

o Watch Video Solution



https://dl.doubtnut.com/l/_oMIyzhHvFxYx

61. Explain the use of potentiometer for

determining he internal resistance of cell.

m
My
I

—

-

o Watch Video Solution

62. What will be the effect on the position of

zero deflection if only the current flowing


https://dl.doubtnut.com/l/_DDgBFFWox8U7
https://dl.doubtnut.com/l/_fbgdj30jPb1K

through the potentiometer wire is Explain:-

increased

° Watch Video Solution

63. What will be the effect on the position of
zero deflection if only the current flowing

through the potentiometer wire is:- decreased.

° Watch Video Solution



https://dl.doubtnut.com/l/_fbgdj30jPb1K
https://dl.doubtnut.com/l/_U1jkUvR9q5DD

64. A potentiometer wire has a length of 1.5 m
and resistance of 10€2. It is connected in series
with the cell of emf 4 Volt and internal
resistance 5{). Calculate thepotential drop per

centimeter of the wire.

o Watch Video Solution

65. When two cells of emfs. E; and E, are
connected in series so as to assist each other,

their balancing length on a potentiometer is


https://dl.doubtnut.com/l/_tudzqtHJeHVI
https://dl.doubtnut.com/l/_cF3iVmsOYtGw

found to be 2.7 m. When the cells are
connected in series so as to oppose each
other, the balancing length is found to be 0.3

m. Compare the emfs of the two cells.

o Watch Video Solution

66.In an experiment to determine the internal
resistance of a cell of emf 1.5 V, the balance
point in the open cell condition is 763 cm.
When a resistor of 9.5 ohm is used in the

external circuit of the cell the balance point


https://dl.doubtnut.com/l/_cF3iVmsOYtGw
https://dl.doubtnut.com/l/_HvSqT8s9aOxM

shifts to 64.8 cm of the potentiometer wire.

Determine the internal resistance of the cell.

° Watch Video Solution

67. The emf of a cell is balanced by a length of
120 cm of potentiometer wire. When the cell is
shunted by a resistance of 10(2, the balancing
length is reduced by 20 cm. Find the internal

resistance of the cell.

° Watch Video Solution



https://dl.doubtnut.com/l/_HvSqT8s9aOxM
https://dl.doubtnut.com/l/_YDB2qcFic47Q
https://dl.doubtnut.com/l/_w3WkuRRsPFFl

68. A potential drop per unit length along a
wire is 5 x 107 °V /m. If the emf of a cell
balances against length 216 <m of this

potentiometer wire, find the emf of the cell.

o Watch Video Solution

69. The resistance of a potentiometer wire is
8(dand its length is 8 m. A resistance box and a
2V battery are connected in series with it.

What should be the resistance in the box, if it


https://dl.doubtnut.com/l/_w3WkuRRsPFFl
https://dl.doubtnut.com/l/_2KyM36gVPcm8

is desired to have a potential drop of

1V /mm?.

° Watch Video Solution

70. What is a Galvanometer?

° Watch Video Solution

71. What are the types of moving coil

Galvanometer?

o Watch Video Solution



https://dl.doubtnut.com/l/_2KyM36gVPcm8
https://dl.doubtnut.com/l/_yfNTVrCAd7jC
https://dl.doubtnut.com/l/_JZe1hmplefSc

72. State the principle of moving coil

Galvanometer?

° Watch Video Solution

73. With the help of neat diagram, describe

the theory of moving coil Galvanometer?

Angular scale

Horse shoe
shaped magnet

Spiral spring



https://dl.doubtnut.com/l/_JZe1hmplefSc
https://dl.doubtnut.com/l/_HVmzMC4xBawE
https://dl.doubtnut.com/l/_eXu08SPbYtAR

\ o Watch Video Solution

74. State the modification necessary to
convert a moving col Galvanometer into

ammenter?

o Watch Video Solution

75. State the uses of shunt connected across,

Galvanometer.

o Watch Video Solution



https://dl.doubtnut.com/l/_eXu08SPbYtAR
https://dl.doubtnut.com/l/_BlsFzeDvDXP3
https://dl.doubtnut.com/l/_fyMGlvE8tCHa

76. Explain how a moving coil Galvanometer is
converted into an ammeter. Derive the

necessary formula.

o Watch Video Solution

77.1f | = n Ig then in moving coil Galvanometer.

G

n—1

Show that:- § =

° Watch Video Solution



https://dl.doubtnut.com/l/_fyMGlvE8tCHa
https://dl.doubtnut.com/l/_TCDlv3ZxeBfb
https://dl.doubtnut.com/l/_RyFjwrhTC9qv
https://dl.doubtnut.com/l/_gwNYTdQUPDaP

78.1f | = n Ig then in moving coil Galvanometer.

Show that:- E = G
I S+G

o Watch Video Solution

79. A galvanometer has a resistance of 1002
and its full scale deflection current is 100uA.
What shunt resistance should be added so
that the ammeter can have a range of O to 10

mA ?.

o Watch Video Solution



https://dl.doubtnut.com/l/_gwNYTdQUPDaP
https://dl.doubtnut.com/l/_v0fzlbf2nXaT
https://dl.doubtnut.com/l/_16Nqe5dcNZMW

80. What is the value of the shunt resistance
that allows 20% of the main current through a

galvanometer of 99)?.

° Watch Video Solution

81. State the modification necessary to convert

a moving coil galvanometer into voltmeter.

o Watch Video Solution



https://dl.doubtnut.com/l/_16Nqe5dcNZMW
https://dl.doubtnut.com/l/_f1lygCofhzQN

82. State the uses of resistance connected in

series with the galvanometer.

° Watch Video Solution

83. Explain how a moving coil galvanometer is
converted into voltmeter. Derive the necessary

formula.

° Watch Video Solution



https://dl.doubtnut.com/l/_no1wMB5i4dpo
https://dl.doubtnut.com/l/_DtA2dUIQ9dZ0

84.1f V =n,V, then show that X = G(n, — 1).

o Watch Video Solution

85. A Galvanometer has a resistance of 25(2
and its full scale deflection current is 25uA.
What resistance should be added to it to have

arangeof 0-10 V.

° Watch Video Solution



https://dl.doubtnut.com/l/_AZsMCmEHAmm1
https://dl.doubtnut.com/l/_mwVJ3V620NRn

86. A Galvanometer has a resistance of 40 D
and a current of 4 mA is needed for a full scale
deflection. What is the resistance and how is it
to be connected to convert the galvanometer:-

into an ammeter of 0.4 Arange and

o Watch Video Solution

87. A Galvanometer has a resistance of 40 D

and a current of 5 mA is needed for a full scale

deflection. What is the resistance and how is it


https://dl.doubtnut.com/l/_irmpFO8kBT1X
https://dl.doubtnut.com/l/_sCC6T6BlHPVb

to be connected to convert the galvanometer:-

into a voltmeter of 0.5 V range?

° Watch Video Solution

88. What is called thermoelectric effect?

° Watch Video Solution

89. Who discovered thermoelectric effect?

° Watch Video Solution



https://dl.doubtnut.com/l/_sCC6T6BlHPVb
https://dl.doubtnut.com/l/_cGDsRuf2pzuE
https://dl.doubtnut.com/l/_qvY2JKWp1Ndq

90. Explain thermoemf, seeback effect and

thermocouple?

o Watch Video Solution

91. Give two examples of thermocouple using

diagram?

o Watch Video Solution



https://dl.doubtnut.com/l/_hnny0hzgzJGQ
https://dl.doubtnut.com/l/_Q3Q1xJ3t93BK

92. Write the equation for thermo emf when
cold junction is at 0° C and the hot junction is
at T°C what will be the shape of graph
showing variation of thermo emf with a

temperature?

o Watch Video Solution

93. Distinguish between potentiometer and

voltmeter..

° Watch Video Solution



https://dl.doubtnut.com/l/_OgsMtxlxR5Va
https://dl.doubtnut.com/l/_f3DYIqRnKzB1

94. Distinguish  between  Meterbridge

experiment and Kelvin's method.

o Watch Video Solution

95. Distinguish between ammeter and

voltmeter.

o Watch Video Solution

Exercise



https://dl.doubtnut.com/l/_f3DYIqRnKzB1
https://dl.doubtnut.com/l/_QA4y4f1LFvOs
https://dl.doubtnut.com/l/_rPgbYRLx5qTM

1. (1)In the following circuit, calculate the value

of the current (l).

o Watch Video Solution

2. In an electric circuit, the currents 2A, 1.5A
and 3A flow towards the junction. While a

current of 2.5A and an unknown current leave


https://dl.doubtnut.com/l/_yaG1hjjup5gM
https://dl.doubtnut.com/l/_tU8MAPKTDKHJ

the junction. Find the magnitude of unknown

current.

° Watch Video Solution

3. Aresistance of 22 is connected in parallel to
a galvanometer of resistance 48(). Find the
percentage of fraction of total current passing

through the resistance of 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_tU8MAPKTDKHJ
https://dl.doubtnut.com/l/_jgZxFZsVDqxs

4. A galvanometer has a resistance of 16{). It
shows full scale deflection when a current of
20mA is passed through it. The only shunt
resistance available is 0.06W which is not
appropriate to convert galvanometer into
ammeters. How much resistance should be
connected in series with the coil of
galvanometer so that the range of ammeter is

8A?

o Watch Video Solution



https://dl.doubtnut.com/l/_Dd7kPC1sxeOe
https://dl.doubtnut.com/l/_w3YKrjGsP4BP

5. A moving coil galvanometer has a resistance
of 25€2 and goes a full scale deflection for a
current of T0mA. How will you convert it into

voltmeter having a range of 0.100V?

o Watch Video Solution

6. The combined resistance of a galvanometer
of resistance 5002 and its shunt is 21€).

Calculate the value of shunt.

o Watch Video Solution



https://dl.doubtnut.com/l/_w3YKrjGsP4BP
https://dl.doubtnut.com/l/_NDVaFDkPxnbd
https://dl.doubtnut.com/l/_FPOFYLHAQpot

7. A potentiometer wire has a resistance per
unit length of 0.1Q2/m. A cell of emf 1.5V
balance against 300 cm length of the wire.

Find the current through potentiometer wire.

o Watch Video Solution

8. Resistance of potentiometer wire is
0.1Q2 /ecm. A cell of emf 1.5V is balanced at
300cm on this potentiometer wire. Calculate

the current and balancing length for another


https://dl.doubtnut.com/l/_FPOFYLHAQpot
https://dl.doubtnut.com/l/_LGsIYcjwG2ex

cell of emf 1.4V on the same potentiometer

wire.

° Watch Video Solution

9. In a balanced meterbridge, the segment of
wire opposite to 202 is 40cm. Calculate the

unknown resistance.

° Watch Video Solution



https://dl.doubtnut.com/l/_LGsIYcjwG2ex
https://dl.doubtnut.com/l/_XDWsCzbBLdYu

10. A uniform wire is cut into two pieces such
that on piece is twice as long as the other. The
two piece are connected in parallel in the left
gap of a meterbridge. When a resistance of
20Q2 is connected in the right gap, the null
point is obtained at a distance of 60cm from
the right end of the wire. Find the resistance

of the wire before it was cut into two pieces.

o Watch Video Solution



https://dl.doubtnut.com/l/_ne3SGhHWSAr9

11. Two coils are connected in series in one gap
of the meterbridge and null point is obtained
of the middle of the wire by putting 752 in the
other gap. Two coils are then connected in
parallel and the null point is obtained again at
the middle of the wire when the resistance in
the other gap is changed by 57€). Find the

resistance of each coil.

o Watch Video Solution



https://dl.doubtnut.com/l/_juMxws20hf1W

12. A skeleton tube is made of 12 wires each of
resistance Rf) is connected to a cell of emf E
and of negotiable internal resistance. Use
Kirchhoff's laws to find the resistance
between:- diagonally opposite corners of the

cube.

o Watch Video Solution

13. A skeleton tube is made of 12 wires each of

resistance RS} is connected to a cell of emf E


https://dl.doubtnut.com/l/_EsGGS2IGnl4H
https://dl.doubtnut.com/l/_YCnzumxOkQ3l

and of negotiable internal resistance. Use
Kirchhoff's laws to find the resistance
between:- diagonally opposite corners of the

cube.

o Watch Video Solution

14. A skeleton tube is made of 12 wires each of
resistance RS} is connected to a cell of emf E
and of negotiable internal resistance. Use

Kirchhoff's laws to find the resistance


https://dl.doubtnut.com/l/_YCnzumxOkQ3l
https://dl.doubtnut.com/l/_6DFx1AngRrZC

between:- diagonally opposite corners of the

same face of the cube is across face diagonal.

o Watch Video Solution

15. A galvanometer has resistance of 252
capacity to carry a maximum current of 25mA.
How can it be used as ammeter to read the

current upto 0.1 A?

o Watch Video Solution



https://dl.doubtnut.com/l/_6DFx1AngRrZC
https://dl.doubtnut.com/l/_03I5iJxMzPCm

16. At what point the null point be obtained in
meterbridge experiment when the ratio of

resistance in two gaps is 3: 77

o Watch Video Solution

17. The potentiometer wire has length 10m and
resistance 101}, if the current flowing through
it is 0.4A, what are the balancing lengths when
two cells of emfs 1.3V and 1.1V are connected

so as to:- assist and

| & |


https://dl.doubtnut.com/l/_gd0PFjNqIAXZ
https://dl.doubtnut.com/l/_5DUwYzG2LwuS

| ¥ Watch Video Solution |

18. The potentiometer wire has length 10m
and resistance 10€}, if the current flowing
through it is 04A, what are the balancing
lengths when two cells of emfs 1.3V and 1.1V

are connected so as to:- oppose each other?

o Watch Video Solution

19. When a resister of 10f2 is connected across

a cell, its terminal potential difference is


https://dl.doubtnut.com/l/_5DUwYzG2LwuS
https://dl.doubtnut.com/l/_OEp5C5b5JfAs
https://dl.doubtnut.com/l/_eUlZZYzxWnM0

balanced by 150cm of potentiometer wire and
when 202 resistance is connected across the
cell, terminal potential difference is balanced
by 175cm of the same potentiometer wire. Find
the balancing length when the cell is in open
circuit and also find the internal resistance of

the cell.

o Watch Video Solution

20. Two cells having unknown emfs E; and Ej

(Ey > E,) are connected in potentiometer


https://dl.doubtnut.com/l/_eUlZZYzxWnM0
https://dl.doubtnut.com/l/_UzsoIRV9et10

circuit so as to assist each other. The null
point is obtained at 8125m from higher
potential end. When cell E; is connected so as
to oppose cell E4, the null point is obtained at
1.25m from the same end compare the emfs of

two cells.

o Watch Video Solution

21. A potentiometer wire has a length of 2m
and resistance 10€). It is connected in series

with resistance 9902 and a cell of emf 2V.


https://dl.doubtnut.com/l/_UzsoIRV9et10
https://dl.doubtnut.com/l/_x9g2pJ1Kzcgp

Calculate the potential gradient along the

wire.

° Watch Video Solution

22. Four resistance 444 and 12() form a
Wheatstone’s network. Find the resistance
when connected across 12() resistance will

balance the network?

o Watch Video Solution



https://dl.doubtnut.com/l/_x9g2pJ1Kzcgp
https://dl.doubtnut.com/l/_0y12St8OiL35

23. Two resistance x and y in the two gaps of a
meter bridge give a null point dividing the
wire in the ratio 2:3. If each resistance is
increased by 30€)the null point divides the

wire in the ratio 5: 6. calculate each resistance.

o Watch Video Solution

24. Three cells are connected in parallel with
their like poles connected together with wires

of negligible resistance. The em.f. of the cells


https://dl.doubtnut.com/l/_cTDIoOVHAZzv
https://dl.doubtnut.com/l/_N0j9the7NIiT

are 2V, 3V and 4V respectively and their
internal resistances are 1), 2{) and 3(),
respectively. Find the current through each

branch.

° Watch Video Solution

25. The unknown resistance is placed in a left
gap and a resistance of 50€2 in right gap of
meter bridge. The null point is obtained at 60
cm from the right gap. Determine the

unknown resistance.

| e |


https://dl.doubtnut.com/l/_N0j9the7NIiT
https://dl.doubtnut.com/l/_gHUYaSdinHm1

& Watch Video Solution I

26.In a meter bridge experiment, the unknown
resistance X in the left gap and a known
resistance of 60€2 in right gap, null point is
obtained at | cm from left. If the unknown
resistance X is shunted by an equal resistance,
what should be the value of known resistance
in the right gap in order to get the null point

at the same place?

° Watch Video Solution



https://dl.doubtnut.com/l/_gHUYaSdinHm1
https://dl.doubtnut.com/l/_65Vsv7975mCj
https://dl.doubtnut.com/l/_twMwkOuuyncU

27. Select and wrote only the correct answer in
words alongwith the alphabet of the following
questions:- Kirchhoff's first law, i.e,, Zl =0
at a junction, deals with the conservation of?
A. charge
B. energy

C. momentum

D. mass

Answer:

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_twMwkOuuyncU

28. When the balance point is obtained in the

potentiometer, a current is drawn from?

A. both the cells and auxiliary battery

B. cell only

C. auxiliary battery only

D. neither cell nor auxiliary battery

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_twMwkOuuyncU
https://dl.doubtnut.com/l/_E2u7XVzectRG

29. In the following circuit diagram, an infinite
series of resistance is shown . Equivalent

resistance between points Aand B is

1Q 190 1Q 1Q

A — MWW to o
20 320 320
p—mmmMmMmMmm b aeee to o
A. infinite
B. zero
C. 20}

D. 1.5(2


https://dl.doubtnut.com/l/_E2u7XVzectRG
https://dl.doubtnut.com/l/_uGYJLu5MeWpj

Answer:

o Watch Video Solution

30. Four resistances 10£2, 102, 102 and 152

form a Wheatstone's network. What shunt is

required across 15{) resistor to balance the

bridge

A. 1092

B. 15(2

C. 2012


https://dl.doubtnut.com/l/_uGYJLu5MeWpj
https://dl.doubtnut.com/l/_6T1f5quzQnOI

D. 302

Answer:

o Watch Video Solution

31. A circular loop has a resistance of 40€2. Two
points P and Q of the loop, which are one
quarter of the circumference apart are
connected to a 24V battery, having an internal
resistance of 0.5{). What is the current flowing

through the battery.


https://dl.doubtnut.com/l/_6T1f5quzQnOI
https://dl.doubtnut.com/l/_U9uyONZ4R1lQ

A.05A

B. 1A

C.2A

D. 3A

Answer:

o Watch Video Solution

32. To find the resistance of a gold bangle, two
diametrically opposite points of the bangle

are connected to the two terminals of the left


https://dl.doubtnut.com/l/_U9uyONZ4R1lQ
https://dl.doubtnut.com/l/_ELhY0lOgfC0t

gap of a metre bridge. A resistance of 4(2 is
introduced in the right gap. What is the
resistance of the bangle if the null point is at

20 cm from the left end?.

A. 2()

C. 8(2

D. 1612

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ELhY0lOgfC0t

33. Kirchhoff's second law is the consequence

of law of conservation of ............... i

A. mass

B. energy

C.charge

D. momentum

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ELhY0lOgfC0t
https://dl.doubtnut.com/l/_lQBuYB7zpIlE
https://dl.doubtnut.com/l/_ttvAkhgYCv5u

34. For given Wheatstone's network for being

balanced, the value of resistance should be

A. 4}

B. 8(2

C. 12Q2

D. 1612


https://dl.doubtnut.com/l/_ttvAkhgYCv5u

Answer:

o Watch Video Solution

35.In the measurement of resistance by meter

bridge, the end error can be eliminated by

A. the null point should be near the centre

of the wire.

B.by not interchanging the gaps for

resistors.


https://dl.doubtnut.com/l/_ttvAkhgYCv5u
https://dl.doubtnut.com/l/_GZnWwzk8KVjc

C. the null point should be obtained at the

ends of the wire.

D. both (b) and (c)

Answer:

o Watch Video Solution

36. E.m.f. can be measured by

A. Voltmeter

B. Potentiometer


https://dl.doubtnut.com/l/_GZnWwzk8KVjc
https://dl.doubtnut.com/l/_wT0bwYQZWNp4

C. Galvanometer

D. Ammeter

Answer:

O Watch Video Solution

37. The formula for internal resistance of a cell



https://dl.doubtnut.com/l/_wT0bwYQZWNp4
https://dl.doubtnut.com/l/_F7BkrusklM05

lo
D. R
(12—11)

Answer:

° Watch Video Solution

38. In a potentiometer experiment balancing
for the first cell and second cell are 2.5 m and
2 m, respectively, when cells are used

E, .
separately. Hence, o IS

2

A.08


https://dl.doubtnut.com/l/_F7BkrusklM05
https://dl.doubtnut.com/l/_XZcqI1uhw1t7

B.1

C. 1.1

D. 1.25

Answer:

o Watch Video Solution

39. Which of the following is S.. unit of

potential gradient?

A.V cm


https://dl.doubtnut.com/l/_XZcqI1uhw1t7
https://dl.doubtnut.com/l/_260HGxavVmf5

B.V /cm
CV/m

D.Vm

Answer:

o Watch Video Solution

40. Length of potentiometer wire is 600 cm
and a driving cell develop 6V potential
difference across it. The potential gradient

along the wire is?


https://dl.doubtnut.com/l/_260HGxavVmf5
https://dl.doubtnut.com/l/_xQvVyHZy4ELr

A (0.1V) /m
B.(1V) /m
C.(6V)/m

D. (0.9V) /m

Answer:

o Watch Video Solution

41. The potential difference Vo — Vp between

the points D and C in the following diagram is



https://dl.doubtnut.com/l/_xQvVyHZy4ELr
https://dl.doubtnut.com/l/_GLPUxku0rEpv

24V 30 202 C

D z
(..__+lp_m———wm——m*

A. OV
B. 1.4V
C.14V

D. 16V

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GLPUxku0rEpv

42. Two unknown resistrance X and Y are
connected to left and right gaps of a meter
bridge and the balancing point is obtained at
80 cm from left. When a 10Q resistance is
connected in parallel to x, the balance point is
50 cm from left. The values of X and Y

respectively are

A.40Q ,9Q

B.30Q, 7.5Q

C.20Q,6Q


https://dl.doubtnut.com/l/_wPNQiY9Qc0o5

D.10Q2, 3Q

Answer:

° Watch Video Solution

43. In a balanced Wheatstone's bridge, if the
position of the galvanometer and cell is

interchanged then the balanced condition will

A. change


https://dl.doubtnut.com/l/_wPNQiY9Qc0o5
https://dl.doubtnut.com/l/_xvGJeXdkz9k4

B. depends upon resistance of

galvanometer

C.remain same

D. depends upon internal resistance of a

cell

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xvGJeXdkz9k4

44, A battery having em.f. 5V and internal
resistance 0.5 is connected with a resistance
of 4.5(), then the voltage at the terminals of
the battery is

A.OV

B. 4V

C.45V

Answer:

‘ o Wiak hh \iAAA CAaliikianm



https://dl.doubtnut.com/l/_iQTHq2VN1sRa
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45, A cell supplies a current 1.2A through a
resistor 2€). The same cell supplies a current
0.4A through a 7€) resistor. The internal
resistance of the cell is

A. 0.1Q

B. 0.342

C. 0.5Q2

D. 0.7


https://dl.doubtnut.com/l/_iQTHq2VN1sRa
https://dl.doubtnut.com/l/_FxUrrQK5VKvf

Answer:

o Watch Video Solution

46. A voltmeter having a resistance of 50(2 is
connected across a cell of emf. 2V and

internal resistance 10€). The reading of the
voltmeter,

A. 0167V

B.1.667V

C.16.7V


https://dl.doubtnut.com/l/_FxUrrQK5VKvf
https://dl.doubtnut.com/l/_ctu2RuKOEAd8

D. 967V

Answer:

° Watch Video Solution

47.The length and cross-section of the wire of

meter bridge are

A. 0.5 m and non-uniform

B. 0.5 m and uniform

C.1m and non-uniform


https://dl.doubtnut.com/l/_ctu2RuKOEAd8
https://dl.doubtnut.com/l/_y0AIjVE6l3Dg

D.1m and uniform

Answer:

° Watch Video Solution

48. The balance point is obtained at 40 cm
from left end in meter bridge. Then the ratio

of resistance in the gap is

A 2:5

B.2:4


https://dl.doubtnut.com/l/_y0AIjVE6l3Dg
https://dl.doubtnut.com/l/_ZrJw34eMS6SN

C.2:3

D.2:1

Answer:

o Watch Video Solution

49, Kelvin's method of determination of

resistance of galvanometer

A. equals deflection method

B. equals null method


https://dl.doubtnut.com/l/_ZrJw34eMS6SN
https://dl.doubtnut.com/l/_GhYl1GKJabzT

C. equals distance method

D. equals length method

Answer:

o Watch Video Solution

50. Accuracy of potentiometer can be easily

increased by

A. increasing resistance of wire

B. decreasing resistance of wire


https://dl.doubtnut.com/l/_GhYl1GKJabzT
https://dl.doubtnut.com/l/_4dXDDWBCo1Ov

C. increasing length of wire

D. decreasing the length of wire

Answer:

o Watch Video Solution

51. A potential difference 3V is applied across a
potentiometer wire of length 10 m. If the
length of wire is reduced by 1 m the value of

potential gradient in V' /m will be


https://dl.doubtnut.com/l/_4dXDDWBCo1Ov
https://dl.doubtnut.com/l/_b3UTQ9jIaNB1

A.0.0333V /m
B.0.333V /m
C.3.33V /m

D.33.3V /m

Answer:

o Watch Video Solution

52. A cell of internal resistance "r" is connected
to an external resistance "R". p.d. will be

maximum across "R" if


https://dl.doubtnut.com/l/_b3UTQ9jIaNB1
https://dl.doubtnut.com/l/_aYBnSoaI5QkR

AR=r/2
B. R=r
C.Rltr

D. Rgtr

Answer:

o Watch Video Solution

53. A Wheatstone's bridge ABCD is balanced
with a galvanometer between the points B and

D. At balance, the potential at B and D.


https://dl.doubtnut.com/l/_aYBnSoaI5QkR
https://dl.doubtnut.com/l/_AQkkpI3zU0TE

A Vg =1Vp

B.Vg < Vp

CVg>Vp

D. Vs = 2V

Answer:

o Watch Video Solution

54. Kirchhoffs voltage law and current law are
respectively in accordance with the

conservation of


https://dl.doubtnut.com/l/_AQkkpI3zU0TE
https://dl.doubtnut.com/l/_alZc1NuFMmO3

A. charge and momentum

B. charge and energy

C. energy and charge

D. energy and momentum

Answer:

o Watch Video Solution

55. A skeleton cube is made of 12 wires, each of
resistance R. The resistance between any two

adjacent comers of the cube is


https://dl.doubtnut.com/l/_alZc1NuFMmO3
https://dl.doubtnut.com/l/_nrOoiWaS8eLk

Answer:

o Watch Video Solution

56. When unknown resistance is determined
by meterbridge the error due to contact

resistance is minimized


https://dl.doubtnut.com/l/_nrOoiWaS8eLk
https://dl.doubtnut.com/l/_6qfxo4QL26jY

A.by connecting both the resistance only

in one gap

B. By interchanging the position of known

and unknown resistance

C. by using uniform wire

D. by obtaining the null point near the end

of the wire.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6qfxo4QL26jY
https://dl.doubtnut.com/l/_FkKyI57piKEH

57. In potentiometer experiment, if [; is the
balancing length for emf of cell of internal
resistance r and [, is the balancing length for
its terminal potential difference when shunted

with resistance R then

All—lg(R;_T)
a0
i)
D.ll—lz(R;T)

Answer:


https://dl.doubtnut.com/l/_FkKyI57piKEH

° Watch Video Solution

58. An ideal ammeter has

A. zero resistance

B. low resistance

C. high resistance

D. infinite resistance

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_FkKyI57piKEH
https://dl.doubtnut.com/l/_OBgUQ2Hq633N

59. Which of the following statement is true?

A. A galvanometer with low resistance in

parallel is an ammeter.

B. A galvanometer with high resistance in

series is an ammeter.

C. A galvanometer with high resistance in

parallel is a voltmeter.

D. A galvanometer with low resistance in

parallel is a voltmeter.


https://dl.doubtnut.com/l/_OBgUQ2Hq633N
https://dl.doubtnut.com/l/_qEvtEeQv42pP

Answer:

o Watch Video Solution

60. In the following circuit the value of

resistance R

R
_,_{: ) ——AAS >
5A
25V
A. 52
B. 2012

C. 3092


https://dl.doubtnut.com/l/_qEvtEeQv42pP
https://dl.doubtnut.com/l/_hRnWVuygLwOx

D. 1252

Answer:

° Watch Video Solution

61. The deflection in moving coil galvanometer
is reduced to half when it is shunted with 5012
resistance. The resistance of galvanometer is

A. 1.252

B. 252


https://dl.doubtnut.com/l/_hRnWVuygLwOx
https://dl.doubtnut.com/l/_PafOVwqP54oF

C. 502

D. 1002

Answer:

o Watch Video Solution

1\!
62. If galvanometer is shunted by (;) h

resistance, then the the fraction of current

passing through the galvanometer will be

n—+1


https://dl.doubtnut.com/l/_PafOVwqP54oF
https://dl.doubtnut.com/l/_b0bdDWnsmhuP

Answer:

o Watch Video Solution

63. An ideal voltmeter has

A. zero resistance

B. zero resistance


https://dl.doubtnut.com/l/_b0bdDWnsmhuP
https://dl.doubtnut.com/l/_cO0nVHNKf3XJ

C. high resistance

D. infinite resistance

Answer:

o Watch Video Solution

64. The resistance of a galvanometer is G. If S
is the resistance used to convert
galvanometer into ammeter then the effective

resistance of ammeter is


https://dl.doubtnut.com/l/_cO0nVHNKf3XJ
https://dl.doubtnut.com/l/_RlPRdIszziyV

A G

S

B. G+S

G+ S5
C.

D.G
G+ S

Answer:

o Watch Video Solution

65. A moving coil galvanometer of resistance G

gives full scale deflection for a certain current.


https://dl.doubtnut.com/l/_RlPRdIszziyV
https://dl.doubtnut.com/l/_VnVIsEWY4jMT

The shunt resistance required to convert it to

measure a current n times the initial current is

n—1
A.
G
5 G
‘n—1
C.(n—1G
D. nG
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_VnVIsEWY4jMT

66. The range of an ammeter can be increased

by

A. connecting a small resistance in series

B. connecting a large resistance in series

C. decreasing the shunt resistance

D. increasing the shunt resistance

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0zBDfqIotADZ
https://dl.doubtnut.com/l/_A0YYmBtSUQsg

67. The range of a voltmeter can be increased

by

A. connecting a law shunt resistance

B. connecting a high shunt resistance

C. decreasing the series resistance

D. increasing the series resistance

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_A0YYmBtSUQsg

68. In the circuit given below, the equivalent

resistance between point Aand Cis

A. 4}

B. greater than that between points A and

C. less than that between points A and D

D. equal to that between points Aand D

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XQwYwg499F7q

69. In a Wheatstone's network, the resistance

in cycle order are P =100, () = 5€2, S = 42 and

R = 4() then for the bridge to balance.

A. 5€2 should be connected in parallel with

0 =50

B. 10€2 should be connected in series with

Q =52

C. 5() should be connected in series with P

=102


https://dl.doubtnut.com/l/_XQwYwg499F7q
https://dl.doubtnut.com/l/_VIFkbB8yIQve

D. 10Q2= should be connected in parallel

with p = 100

Answer:

o Watch Video Solution

70. A lead resistance R is connected across a
cell of emf E and internal resistance r. If the
closed circuit p.d. across the terminals of the

cell is V the internal resistance of the cell is.


https://dl.doubtnut.com/l/_VIFkbB8yIQve
https://dl.doubtnut.com/l/_3eNvbqJVmE58

Answer:

o Watch Video Solution

71. In the following circuit the equivalent
resistance between A and B is

10 Q


https://dl.doubtnut.com/l/_3eNvbqJVmE58
https://dl.doubtnut.com/l/_P7pUVELOfnMh

20 Q

30Q

40 Q

A. 1092

B. 202


https://dl.doubtnut.com/l/_P7pUVELOfnMh

C. 3002

D. 402

Answer:

° Watch Video Solution

72. The material of wire of potentiometer is

A. copper

B. steel

C. manganese


https://dl.doubtnut.com/l/_P7pUVELOfnMh
https://dl.doubtnut.com/l/_29M9SnrVJRRg

D. aluminium

Answer:

° Watch Video Solution

73. Length of potentiometer wire is 600 cm
and a driving cell develop 6V potential
difference across it. The potential gradient

along the wire is?

A. Vi


https://dl.doubtnut.com/l/_29M9SnrVJRRg
https://dl.doubtnut.com/l/_ZAorDyKOni3p

B. Kl

C.IRI

Answer:

o Watch Video Solution

74.The algebraic sum of current at junction in

any electric circuit is equal to

A. zero


https://dl.doubtnut.com/l/_ZAorDyKOni3p
https://dl.doubtnut.com/l/_AS7Qj6W4FPyS

B. a positive integer

C. infinity

D. arbitrary

Answer:

o Watch Video Solution

75. Which of the following instruments in
generally used with a galvanometer to show

null reading?


https://dl.doubtnut.com/l/_AS7Qj6W4FPyS
https://dl.doubtnut.com/l/_AxQPQse4W9ak

A. Ammeter

B. voltmeter

C. multimeter

D. meterbridge

Answer:

o Watch Video Solution

76. A Wheatstone's bridge ABCD is balanced

with a galvanometer between the points B and


https://dl.doubtnut.com/l/_AxQPQse4W9ak
https://dl.doubtnut.com/l/_h6PnZmlpbhig

D. At balance, the ... between the points B

and D is zero.

A. Resistance

B. current

C.voltage

D.B and C

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_h6PnZmlpbhig

77. The emf of a cell is E volt and internal
resistance is r ohm. It resistance in the
external circuit is r ohm, the p.d. across the

cell will be

ol e

C.2E

D. 4E

Answer:

I o Wiak~hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_7qf3SgefJrYf
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78. State the principle of potentiometer.

o Watch Video Solution

79. Write down the equation for thermo emf
when cold junction is at 0°C and the hot

junctionisat T °C.

o Watch Video Solution



https://dl.doubtnut.com/l/_7qf3SgefJrYf
https://dl.doubtnut.com/l/_NpLdreYINiiy
https://dl.doubtnut.com/l/_LlM5ugzj4ebx

80. A cell of emf 1.1 V and internal resistance r
is connected across as external resister of
resistance 10r. Find the potential difference

across the external resistor.

° Watch Video Solution

81. State any two advantages of potentiometer

over voltmeter.

o Watch Video Solution



https://dl.doubtnut.com/l/_St46rm8hWTbF
https://dl.doubtnut.com/l/_gfnO7gsne7Xf
https://dl.doubtnut.com/l/_fZit85EY1J1i

82. Distinguish between ammeter and

voltmeter, (any two points).

o Watch Video Solution

83.1f V=n,V, then show that X =G(n, — 1).

o Watch Video Solution

84. Define potential gradient. State its unit

and dimension.

| & I


https://dl.doubtnut.com/l/_fZit85EY1J1i
https://dl.doubtnut.com/l/_0TbZ4xkNpmoK
https://dl.doubtnut.com/l/_Km0PKHwvIsF7

| ¥ Watch Video Solution |

85. Four resistances 4(2, 8(2, () and 6f) are
connected in the cyclic so as to form a
Wheatstone network. Determine the value of x

if network is balanced.

o Watch Video Solution

86. If a galvanometer is shunted by one third
of its resistance, find the fraction of total

current passing through the galvanometer.


https://dl.doubtnut.com/l/_Km0PKHwvIsF7
https://dl.doubtnut.com/l/_CaC4GaGRNcE6
https://dl.doubtnut.com/l/_qRRyQRWtdIxN

° Watch Video Solution

87. Explain:- Thermo emf

° Watch Video Solution

88. Explain:- see back effect

° Watch Video Solution

89. Explain:- Thermocouple.


https://dl.doubtnut.com/l/_qRRyQRWtdIxN
https://dl.doubtnut.com/l/_8L7tjOqmbGIM
https://dl.doubtnut.com/l/_r9zg0rtDyK9K
https://dl.doubtnut.com/l/_gSkzTbpBUGLO

° Watch Video Solution

90. State any three sources of error in
meterbridge experiment and steps to be taken

to minimise them.

° Watch Video Solution

91. With a resistance R; in the left gap and a
resistance Ry, in the right gap of a

meterbridge, the null point is obtained at a


https://dl.doubtnut.com/l/_gSkzTbpBUGLO
https://dl.doubtnut.com/l/_CeGROpoFUQQP
https://dl.doubtnut.com/l/_nVwGLTwGZ3JS

distance of 70cm from the left end, when R is
reduced by 2() and R, is increased by 2(2, the
null point is obtained at 30cm from left end.

Find the values of resistance R; and R,.

° Watch Video Solution

92. State Kirchoff's laws in electricity:-

Calculate the value of I; and I, in the


https://dl.doubtnut.com/l/_nVwGLTwGZ3JS
https://dl.doubtnut.com/l/_cc7kVmuENdiA

following circuit.

° Watch Video Solution



https://dl.doubtnut.com/l/_cc7kVmuENdiA

